1-28 = Evaluate the integral. 33. Use a graph to estimate the x-intercepts of the curve
y = x + x* — x*. Then use this information to estimate the
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B 'Lx’dx 2. Il (1 + 2x — 4x") dx area of the region that lies under the curve and above the
X-axis.
3. j:(ex’—4x+5)dx 4. f’(u’—u"+u:)du /¥ 34. Repeat Exercise 33 for the curve y = 2x + 3x* — 2x".
1 s, 35-36 = Evaluate the integral and interpret it as a difference of
5. [ xdx 6 [ Vxdx areas. Illustrate with a sketch.
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-2 0 37-38 = Verify by differentiation that the formula is correct.
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S IR " b oRNex 39-40 = Find the general indefinite integral. Illustrate by
g 1 . graphing several members of the family on the same screen.
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41-44 = Find the general indefinite integral.
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